Tt

“Odd0 7«7 = “0ugoog”S*uouog?”
HRER-

“OngooroY“ouoogTotoonoooodoouood
Jodo, gdgododo *uooouo”o “buoogoog”™d
Juoogudoootdd



1. 00000000
C: z=¢{), y=¢(i) (a=t=Db)

¢, ¥ O [a,b) 0000D0O00DOODO, C 00O 10000
ooo.

@, € CY(a,b]) ([a,b] DODODODOODOO0OOO0) OO
oo0o0. oooo, @)L ) =M (tela,b) 0000
M>000000000, 000000000000, ¢, @ O
la,b] DODODO0DOOOODOOO.



L ooooo:
f(z) O [a,b) OOOO, (a,b) OOO

y = f(x)
ooooooo, e € (a,b) O
f(b) — f(a) .

Joooooooon.

Py A: [a,b] OO0
a=t)<t1 <2 <---<tp=0>
P, .
P, Pj := (p(t5),¥(t;)) (0=j=mn)



[((A) = “00 PPy P2---P,000O"
= 3" (e(t)) — o(tj_1))? + ((t;) — (tj_1))?
j=1

ooooooo

p(t;) —etji—1) =€) —tji—1) (1=j=n)
000 & 0 tj1<¢&<t; 0000.
00 ADODDODODOOO, ¢/ (¢) 000000

©'(&5) = ¢'(t5)

L] [

1(A) = 31/ ()2 + 9 ()% (8 — t_1)

7=1




AODO0O0O

: /b Ve @) + ()2 dt

L] [

l=/b\/so’(t)2+¢’(t)2dt
000, 00 A’%DD ADOOOOO,Il(A) 1A DOO
oooooao.
f € C'([a, b))
C: y=f(x) (asxb) 00O
(ie,,C: xz=t, y=f(t) (a=t<b))

| = /b\/l—l—f'(:c)2da:




2. do0ooooobooooood

g(t) O [a,8] DOODOO

F(x) O [e,d] OOOD0OO0,csg(t)=sd (astsP)
000. 0000, 0000 F(gt) O [a,Bl 0O0OO0DOC

(@) TFW) = Flg®)g®) (0000000)
(- k:=g(t+h)—g(t) D000 h—0000 k— 0
L OO0

F(g(t+h)) — F(g(t))

h
_F(g@) +k)—F(g(t)) kn-o
- k "h

F'(g(t))g’'(t) )



ooo, ¢/(¢) 000, f(z):= F/(z) 000000000, O
JOoo00oO0oooooo

b
F(b) — F(a) = / f () da,

B
Fg(@) - Flg(@) = [ < F(g(t))dt

(81

Jooo0, a=g(a), b=g(3) 00O0D0DO0DO0 (2) 0000,

q(B)
(3) /g f(z)dz = F(g(8)) — F(g(a))

(@)

6/ B
— / F'(g(t))g'(t) dt — / Fa(t)g'(¢) dt

(0000)



3. 1T

000000 A(a,b), 00 r(>0) 00 € 00O0O0C
Pythagoras 0000 00O
(z —a)? + (y — b)? =72

ooodd, coooooooood:

(y:b—l—\/rz—(w—a,)z, a—r<xla+r
(y=b000)

Yy = —\/frz—(w—a)z, a—r<xla+r
(y=b000)

\



w:a—l—\/rz—(y—b)z, b—r=ys=b+r
(x=2al00)

w:a—\/rz—(y—b)z, b—ry<b+r
(x<a000)

Joooooobod

d +(a — x)
E(b : \/rz o a)Z) i \/7“2 — (z — a)?

U uo.



(-,-dibzo 0000, (2) 0 F(x) = =,
gt)=r>—(t—a)?2 0000,

F'(xz) = Nk g'(t) =2(a—1t) OO
d
—F(g(t)) = 2\/r2 —t—a? 2a =0

t U 00y

_\/r (o a—<

IR

000 _33’)’:7:(:7 1DDDD)
dx

10



R

“0pQOODO"

_ /"*«% ,
T2

| r2 — (z — a)?

BN

11



HRERN

HEN

“ORSOO0O”
a+-— )2
:/ :/5 1 I 2(w a) 2d.’IJ
CL—E r _(aj_a')
“OPSOO0O”="0QROOO”
b+-= — b)2
= f 1"‘,,42(_y( _)b)zdy
- Y
T
“DDDDD"ZZ/ 1 5 5
G—E r _(w_a')
+2/b+\/r§ - (y — b)?
T r2 — (y — b)?

dx

12



0000000 (3) 0

T — a)?
f(iv)=\/1l ( ) g(t) = a+rt

r2 — (x — a)z’
1

1
TR V2
HRNRERN
12
t)) =1/14 = '(t) =
f(9(t)) e YW=
L] L
“+7 (= — a)’ o1
/ A 1+ 5 2da3:r/1 2dt
- r4 — (x — a) _ﬁ\/l_t

13



HRNENRNRN

1
% 1
“DDDDD":M/*/? dt
—25 V1 —t
00 1 1
> 1 v
nzzf‘f dt(:4/‘/§ dt)
-5 V1 —t 0 1-—t

o000 n0O000D0OO (a,b) OO0 000000,

14



4. Arctan 0 Gregory [ [
06 <:%§: 000

sin 6 1
y “DABDDD"zH:/ dz
0o /1

_ p2

A B
9 ) Do0ooooo (3) O
\1 1 t
&

y x f(iB): \/1_$2' g(t): m

—1 a=0, (B =tan0
HEEgERN

Flg(t) = ——— = V148

\/1 142

15



Vit — b .

1i4N V1+t?2
(00000000 (2) 00 i\/1—|—t2: '
dt 1 t2

d k(t) h(t)K'(t) — h'(t)k(t) (000000)

dth(t) h(t)?
0ooo)

g(o) =0,

tan 0 sin 0 .
g(B) = — sin 6

\/1—|—tan29 B \/c0829—|—sin20

16



L] [

tan 0 tan @
o= | fla®)g )y dt= [

(0
BN H:Z HREENEN

TT 1 1
— = dt
4 o 1+ t2

1
1+ ¢2

dt

17



7T 7T

—5, <2< 0000,00 y=tanz 0000,

. y—tms Y = tanz 000000, OO
| (—o0,00) 00DD0, y 00O0C
-3 @ §
0oz T T
5 — << —, y=tanx
2 2

JUub z oo, b @
Uy Uduoon

x = Arctany

000 ( Arctany O Tan_ly Jood, tan OO 0O OO O
7).

18



L] [

A 1 g
rctany = ¢
Y o 1+ t2
Jodoonon
1_,rn—|—1
—7r
00, r=—t2 0000 .
:1_t2+t4_""|‘(—1)nt2n}( )
1+ t2 22

L O

19



Yy
Arctany = / (1—t*+t* — - + (=1)"t*") dt + Rn(y)
0

3 5 2n+1
y Yy Yy
=y — — e (=17 + R
Yy s & ( ) 2m + 1 n(y)
Y (_1)n—|—1t2n—|—2
Ry (y) :/ 2 dt
0 1+t
L1 O |y| <10000
Y ¢ 2n-+2 Y 2n+3
Ra(y)| = | / dt] < \/ en 2 ar] =
o 1+ t2 0 2n + 3
1
< >0 (n — o00)

- 2n+ 3

20



y U U0

2k+1 |2n—|—3

x S|:13
2k+ 11— 2n + 3
00, |x|21 000 n—oo 000, 00D0DO0OODOOO

3 5 2n+1
Xr £r £r
Arctanx = x — I - **° (: 7?1,0—0(_1)71 )
3 5 - 2n + 1
(Gregory 0 0)

(4) Arctanx — ZZ’:O(—l)k

00 =1 0000

U T (G Leibniz)
1., regory, Leibniz
4 3 5 7 9o

r=1/4/3 0000
77_1(1 1, 1 1 ) (Sharp)
6 +3\ 3.3 5.32 7.3 g

21



MachinOOO: 17060
T 1 1 1
_:40_ | _“)
4 5 3.5 5.5°
( 1 1 | 1 )
239 3.2393 ' 5.2395

Jooogdbobood.

v v
—§<a,,3,(a-|-ﬁ)<§DDDD

sin(a +8)  tana +tang

t — o
an(a + (3) cos(a¢ +03) 1—tanatanp
p=tana, g=tan@ UUDO0

p+Q)

Arctanp 4+ Arctang = a + 8 = Arctan(l
— Pq

22



1
=q=—- U
Pp=4d 5

2.5"1
2 Arctan — = Arctan — Arctan —
5 1 — 52 12
5
=qg=— 00O
P=4q 12
1 5 2.2
4 Arctan — = 2 Arctan — = Arctan =
5 12 1— (3%)?
120
— Arctan —
11
L] [
1 1 120 1
4 Arctan ——Arctan —— = Arctan —-+Arctan (——)
5 239 119 239
120 _ 1 -
— Arctan 112 1339 — Arctanl = — |
L + 179.239 4

23



ooooono 2:

Machin 0000000, 0.00001 000000000
00 # 00000000 (((4)0000000000000).

120110 100 ODOUOO0OO0OOO0OOO Alexander Yee [ 1t [

JQDDDD(DDDDDDDD(ﬂ)
(—=1)*(6mn)!(A + Bn)
Z (3n)v(n!)3cn
A =13, 591 409 B = 545,140,134, C = 640, 3203
(Chudnovsky 000)

0 http://www.math.tsukuba.ac.jp/ "wkbysh

/indexj.html
Joddoddboodboodioodided w0 ddoddn

24



